T

[Omean p [GeV]

Ratio to ATLAS

w

N
ol

1.5

0.5

[EEY

0.5

13000 GeV pp

| Unlderllyingl Event

Rivet 3.1.10, = 2.7M events

p'Tead [GeV]

B L ]
~ Averagep vs p'Teaol (nl<25,p >05GeV,p >1GeV) ]
. m ATLAS i
~ -0~ Pythia 6.428 345 7
- - Pythia 6.428 346 —
- —A— Pythia 6.428 370 5
| Pythia 6.428 default _
B | | | | | | | | | | | | | | |_
: T T T T | T T T T | T T T T |:
" 1 " 1 " 1 " 1 " | " 1 " 1 " 1 " 1 " | " 1 " 1 " 1 1 " |
0 10 20 30

mcplots.cern.ch [arXiv:1306.3436]

N

0.5



	Contents
	Page 1


